1.000000000000000Random Walk

Prop.1.1. 0000 (Q,F,P)0000O0GO 000000 (o-field0H O ¢OOOO
000000000 (HCGCF.)

(1) 7-0ODOODO0 X0OO00 w— EX|Gw)0 ¢-00000000000
(2) XO 600000 EX|Gl(w) =X(w), P—as. wOO0O00O
(3 X0 ¢O0O0,Yo FOOO0OD

E[ XY|Gl(w) = X(w)E] Y|G](w), P —a.s. w.
(4 000 ¢-0000 ADDDOO
E[E[X|G]-14]=FE[ X -14], 0000 E[E[X|F] ] = E[X].

(5) DOOOE[ EX|G||H [(w) =E[X|H]. P —a.s. w
(6) XO gOoooooo

E[X|G](w) = E[X], P —a.s. w.

Ex.1.2. Q={1,2,3,4}, P(1) =4, P(2)=3,P3)=1, P4 =3:0000Q00000
00 GUOG={¢B,B,, Q0000 By ={1,2}, B,={3,4}00000000

(1) G-0O00OD XO0ODOOOOoOOO

(2 QOD00000YOOODODOODDOOOOO0O EY|G)00000

Def.& Prop.1.3. (Random Walk) {&,}r>1 00000 P& = —1) = P& = 1) = %

00000000000000000000F, =0{&, &), n>10000M, =0,
n

M, => & n=12---00000000000 {My}n—o,,.0 10000000000
k=1

000000000000 {M,} ets... 0 (F,)-martingale 0000000000< m<n
0000

E[M,|Fn] = M,

gboooog




Ex.1.4. (OO0 martingale) 0 Prop. 00000 fo00000 n=1,---0000 f, 0 Fp-
000000000000000001(f)s=Y_ fiuié, n=1,2,-- 00000000
k=1

(1) E[I(f)a] = fo, EI(f)2) = ¥e_, Ef) 00000
(2) n<mOOOE[I(f)m|F)=1(f), 0000000000

Ex.1.5. (Scaled Random Walk) O 0 Random Walk {M,},—01.. 0000 n00000O

00000+000000000 {W(™}s O

o1
W™ :ﬁM[m],

0oooooQ
1) Ew'™ =o000 Varlw™ —w'™ St —snoono
t t
(2 Doooooooow™ -—w"™oooo No,t—-s) 000000000000

2. 000000 (Brownian motion)

Def.2.1. 000000 {W;},>o0000000000000000 2000000000

gooooo

(1) (00D000)P—aswlDO0 Wy(w)=200t—W(w)OOODDO

(2) (00000)0000<t, < <t, 0000 Wy, — Wy, W, — W,
000000 N(O,t, —t,1) 0000

ERERN

n—1

Notation.2.2. z e ROOOOOP,(W.€ A)0 00000000000 W.0OOOO
O00000E,[f(W)]02000000000000000O0O0O0O0O0OOO

Ex.23. oUDOU0O00oobobObOooOoooboboboooooo

(1) Eo[W2"] = (2n — )", Eo[W?"']=0, neN.
(2)0<s<t0000W,—W,0 F,=c{W,,u<s}0000000

(3) Eo[W;Ws] = min{t, s}.

(4) {(Wihi>0 O {Fi}—martingaleD 000000 0< s <t0000 E[W|F,] =W, P-as.

5) 00y>00000W,=-L1w,00000{W}» 00000000000
v t Jt>

Notation.2.4. 000 t>0,z,yc R, ACRODOODO

1 a2
p@%wEJ%fQM Mmmﬂsz@%w@-

2



Ex.2.5. O<s<tOdQdoOnO
(1) D0DO00000O000O /p(s,O,x)p(t—s,ac,y)dx:p(t,O,y)DDDD
R
(2) 0000000
Ro(We € AW, € B) = [ pls.0.0)p(t — s.2.9)dody
AXB

goon

Th.2.6. (0000000 MarkovD ) OODOODODOOOO0<s,t0000
P(W3+t €A|fs) :p(t, WS,A)

obobooboobdsbobow.boobobowe,,0booboow,gbogno
obgboboobt¢tooobooboobuoobuotsbobooboobooboon

Ex.2.7. (Heat semigroup) t > 00 00O0OROO0O0O fO000000O T f O
Tif(x) = E[f(Wy)], zeR
00000 0000000mOo0o000s,t>000000000
Torif(z) = To(Tif)(x)  z€R.
00000000000 MarkovDDOOO feC(R)(ROODOOOODOD)0000
BUWe)lF] = [ ot Wea)de = B, [£(V)]

DO0O0oooo{wW.}o w,0000000000000000

Th.2.8. (00000000 MarkovD )70000000000000000F € BR)O
00 r=inf{t>0,W, e F}00000000

P<WT+t € A|~7:T) = p(t, WTaA)

OO0D0o0ooooOooFO RtODO0O0OooOwW.Ooboboooobat0oogootononogn
OO00000oO0o0b0AmtO0000000000000O000DO«O 000000000 DbOOD
O0htO0O00oooooooooboobon




Th.2.9. (0000)a>0,2>0,t>00000 M, = supye,,W; 000 0{M.} 000
00000000000000000000000000000000000000000
00 (Q000000)0

Py(My>aO0O0 Wy <a—z)=P(Wy>a+z).

Ex.2.10. (00000000)0000000000OO0OOOOOOOOO0O

[o@) 1 12
Po(M; > a) = 2P(W; > a) = / s

Ex.2.11. a>00000 7, =inf{t >0, Wy, =a} 00000000
M, >a <— 1, <t

0D000000000000000 7,000000000

(1) P(,<o0)=1,0000010000000000000000
Hint: 0000000 lim P(r,<#)=10000000

(2) ,00000 f00000000000

L a o £ > 0.

TVt

(3) Elr,)]=000000000001000000000000000O0O0O0O0OOOOO0O

ft)

3. 000000000 dd (Brownian Motion and Heat Equation)

Ex.3.1. (00000000) Ex.2.7. 0000 Heat Semigroup0 0000 fe€ C3(R)0DO
0 1
O000{T:}+~o 000000 (generator) Lf(x) = —T;f(x) O Lf(x) = Ef"(ac) ooo

ot +=0
ooooo

Ex.3.2. (00 drift 000000000) X, =W, +mt000T,f(z) = E,[f(X,)]0000

1
0000000000000 {Ti}»o000000 L0 Lf(z) = 5 f"(x) + mf'(z) 000
0oo0o0



Th.3.3. fe C3(R)0000u(t,2)=E[f(W)|00000000000

ou 10%u
EZE@’ u(0,z) = f(x)

gooood

4. 0000 (Stochastic Integral)

Ex.4.l. 00000000000 {WheoO 2 € RODODOODODOOODO0OOF, =
o{W,,s<t} 000000000

(1) {Wi}i>0 O (Fi)-martingale 0 00 O

(2) {W?2 —t}i>0 0 (F;)-martingale 0 0 0 O

Ex.4.2. (0000000 2000)
k
DDDDDDDDDDt>0DDDDDDDtk:QTtDDDXk:WtkDDDD

2" —1
0000 Q0 Qn= )Y |Xp—Xx?000000000

k=0
(1) E[Q.] =t.
(2) lim Var[Q,] =0. Hint: O {Xps1 — X} DOOOON(0,t/27) 0000

(3) (1), (2)000 lim B |nz (Vigr — Vi) —t?]=0,00000

n—1
. 2 _ . 2
nh_)n;oZ(VkH—Vk) =t in L~
k=0
Ex.4.3. (000O0O0O0O)Ex.14. 0000 I(f), 0000000000000 0ODOOOOO
Oo00f, 00000 nO0000000O0 @00 100000-1)0 E]=0000
odf,.0F-00000000000000 000000000 O0O0O0O0ODO0ODO0ObOO
n

I(f)n=> fr-1és,n=0,1,---00n00000000000000000000 martin-
k=1

gale M, —Z&DDDDDDDDSH—M—Mnlﬂﬂl kale—Mk )0

noooooooo (fa)n>1 O martingale {M,, }n>1DDDDDDDDDDDDD{M oo
0 (F,)-martingale0 00000000 f,.,0 F,,-0000000000000
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(1) {I(f)n}n>1 0 (Fn)-martingale0 0O .

(2) 00000000000000 (gn)e>1 0000 E[I(f)n-1(9)n] =
k=1

Efr - k).

2" —1

k=0

DD/f ) dW, 0000000000000 0000000000000

I<n>(f)_>/0tf(ws)dws in  L*(Q,P).

guooooooooobobbbbboooodad
t

(1) {/ f(WS)dWS} O (F:)-martingale 0 0 0O O
0 >0

2) E [( / t f<ws>dws,_) ( / tg(Ws)dWsH -/ B (WL)g(W.)ds.

Def.4.4. (0000) Ex42 00000000 f:R—-ROOOODODOOOOOOOO
0000000007I™(f) =) f(X)(Xe —Xp) 00000000 f(Xx) 0 Xe-00

000000000000000000000000000000000{I™(f)}s: 0
L*(Q,7,P)00000000000000000000000000000000000

Th.4.5. (00000) feC3R)0DDOO0

FW) — F(Wy) = /f AW, + + /f“

Ex.4.6. Th.3.3. 0DO00O0OO0OOO0ODOOODOO

o2t

Ex.4.7. (Exponential Martingale) 0 o € R 000 O{exp(cW; — —)}t>0 O (F:)-martingal

goboboooobobooooon

(1)
(2 0000000000

i



